

Find the most general antiderivative of  $h(x)$ .

$$1. h(x) = 5x^4 - 5x^2 + \pi + \frac{1}{2\sqrt{x}} + \frac{1}{3x^3} = 5x^4 - 5x^2 + \pi + \frac{x^{-1/2}}{2} + \frac{1}{3}x^{-3}$$

$$\int h(x) dx = \frac{5x^5}{5} - \frac{5x^3}{3} + \pi x + \frac{1}{2} \left( \frac{x^{1/2}}{1/2} \right) + \frac{1}{3} \left( \frac{x^{-2}}{-2} \right) + C = \boxed{x^5 - \frac{5x^3}{3} + \pi x + \sqrt{x} - \frac{1}{6x^2} + C}$$

$$2. h(x) = \frac{-8}{3\sqrt{x}} - 2\csc^2 x = -8x^{-1/3} - 2\csc^2 x$$

$$\int h(x) dx = -8 \left( \frac{x^{2/3}}{2/3} \right) - 2(-\cot x) = \boxed{-12x^{2/3} + 2\cot x + C}$$

$$= -8 \left( \frac{3}{2} \right) (x^{2/3}) + 2\cot x + C$$

$$3. h(x) = \frac{7}{5\sqrt{x}} - \frac{4\sqrt{x}}{13} + 10 = 7x^{-1/5} - \frac{1}{13}x^{1/4} + 10$$

$$\int h(x) dx = \frac{7x^{4/5}}{4/5} - \frac{1}{13} \left( \frac{x^{5/4}}{5/4} \right) + 10x + C =$$

$$7 \left( \frac{5}{4} \right) x^{4/5} - \frac{1}{13} \left( \frac{4}{5} \right) x^{5/4} + 10x + C$$

$$\boxed{\frac{35}{4}x^{4/5} - \frac{4}{65}x^{5/4} + 10x + C}$$

$$4. h(x) = \frac{2x - 6x^3 + x^2}{3\sqrt{x}} = \frac{2x}{x^{1/3}} - \frac{6x^3}{x^{1/3}} + \frac{x^2}{x^{1/3}} = 2x^{2/3} - 6x^{8/3} + x^{5/3}$$

$$\int h(x) dx = 2 \left( \frac{x^{5/3}}{5/3} \right) - 6 \left( \frac{x^{11/3}}{11/3} \right) + \frac{x^{8/3}}{8/3} + C$$

$$= 2 \left( \frac{3}{5} \right) x^{5/3} - 6 \left( \frac{3}{11} \right) x^{11/3} + \frac{3}{8} x^{8/3} + C$$

$$\boxed{\frac{6x^{5/3}}{5} - \frac{18x^{11/3}}{11} + \frac{3x^{8/3}}{8} + C}$$

$$5. h(x) = -2\cos x + 5\sin x - 5\csc x \cot x$$

$$\int h(x) dx = -2(\sin x) + 5(-\cos x) - 5(-\csc x) + C$$

$$= \boxed{-2\sin x - 5\cos x + 5\csc x + C}$$

6. Find the most general expression of  $f(x)$  if  $f''(x) = 9x^2 - 5x + 2$ .

$$f'(x) = \frac{9x^3}{3} - \frac{5x^2}{2} + 2x + C = 3x^3 - \frac{5x^2}{2} + 2x + C$$

$$f(x) = \frac{3x^4}{4} - \frac{5}{2} \left( \frac{x^3}{3} \right) + \frac{2x^2}{2} + Cx + K$$

$$= \boxed{\frac{3}{4}x^4 - \frac{5x^3}{6} + x^2 + Cx + K}$$

7. Find the most general expression of  $f(x)$  if  $f''(x) = 4x^3 - 5x^2 + 3x - 6$ .

$$f'(x) = \frac{4x^4}{4} - \frac{5x^3}{3} + \frac{3x^2}{2} - 6x + C$$

$$= x^4 - \frac{5x^3}{3} + \frac{3x^2}{2} - 6x + C$$

$$f(x) = \frac{x^5}{5} - \frac{5}{3} \left( \frac{x^4}{4} \right) + \frac{3}{2} \left( \frac{x^3}{3} \right) - \frac{6x^2}{2} + Cx + K$$

$$\boxed{f(x) = \frac{x^5}{5} - \frac{5x^4}{12} + \frac{x^3}{2} - 3x^2 + Cx + K}$$

8. Find the specific expression of  $f(x)$  if  $f(x) = \int g(x)dx$ ,  $g(x) = 3x^2 - 4x$ , and  $f(-1) = 2$

$$\int g(x)dx = \int 3x^2 - 4x dx = \frac{3x^3}{3} - \frac{4x^2}{2} + C \rightarrow f(x) = x^3 - 2x^2 + C$$

$$f(-1) = (-1)^3 - 2(-1)^2 + C$$

$$2 = -1 - 2 + C$$

$$2 + 3 = C$$

$$\underline{5 = C}$$

$$\boxed{f(x) = x^3 - 2x^2 + 5}$$

9. Find the specific expression of  $f(x)$  if  $f''(x) = 36x^2 - 6$ ,  $f'(-1) = 3$ , and  $f(1) = 9$ .

$$f'(x) = \frac{36x^3}{3} - 6x + C = 12x^3 - 6x + C \quad \left. \begin{array}{l} f(x) = \frac{12x^4}{4} - \frac{6x^2}{2} + 9x + K \\ f(x) = 3x^4 - 3x^2 + 9x + K \end{array} \right\}$$

$$f'(-1) = 12(-1)^3 - 6(-1) + C$$

$$3 = -12 + 6 + C$$

$$3 = -6 + C$$

$$\underline{9 = C}$$

$$f'(x) = 12x^3 - 6x + 9$$

$$f(x) = 3x^4 - 3x^2 + 9x + K$$

$$f(1) = 3(1)^4 - 3(1)^2 + 9(1) + K$$

$$9 = 3 - 3 + 9 + K$$

$$9 = 0 + 9 + K$$

$$\underline{0 = K}$$

$$\boxed{f(x) = 4x^3 - 3x^2 + 9x}$$